Mathematics 11U 5.2 — Special Triangles
There are two special triangles: Exact value = no decimal
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Determine the exact values of the following:

3. sin® 60 + cos? 60
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Determine the following angle:
4. sinf =1

5.3 & 5.4 — Trigonometric Ratios for Angles over 90°
The Big ldea: Every ratio exists twice between 0° and 360°
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Find the second equivalent trig ratio: ___(2059 < %o_"__
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i) Draw a sketch of cach angle 6.

ii) Determine the value of » to the nearest tenth.

iii) Determine the primary trigonometric ratios for angle 6.
iv) Calculate the value of # to the nearest degree.

@,7/) | _ 2 Zf/) E‘r&'ﬁ Calealate @

MJ‘C/’\ e S Fcpsr‘/‘a?{ (‘04-74(')11

Le) =XK1 Fald = = B= 5/°
% Lofe 57 = (50 -5
X b+ 2S &= 127
Fl“‘* z(/ o S\/M{/: O ’«aF



Use each trigonometric ratio to determine BOTH values of 6
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Use each trigonometric ratio to determine BOTH values of 6
between 0° and 360°.

2. cos8 = —0.8931
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Use each trigonometric ratio to determine BOTH values of 6
between 0° and 360°.

3. csch = —4.2013

E:/?() 6{:-/3074‘/ O =36
6{’:/??0 @Tgi/éc

5.5 —Trigonometric ldentities Mr. Hagen’s Favourite!!!

Here’s an example question:

sin@ + cos @ cotf = cscl



f(\O{ 2 }
(e sin 6

K.

L.

Our first identity:
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Our second identity:
sin? 8 + cos? 0 =1
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Prove:

sec20 + csc2 0 = sec?6csc?6
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Second last question to prove:

cos6 + cosOtan? 0 = secH

LS (ot cos@tenE

= (@5&%(:29
- @'(Jy
{ Cos (7

_. |
=

S
= ic@ - é-{’ |

L/ rde FVQ‘Y%&B G
%c/ (o5 he o

Sa}\e§

s, L
2 S

3t
(D(3)

(

—_—

X

A
P



l‘ﬁ(—emaot of? g‘Zw"eg
Last question to prove: L
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